
Subject: Re: invariant mass
Posted by Elisabetta Prencipe (2) on Tue, 25 Mar 2014 10:06:17 GMT
View Forum Message <> Reply to Message

Hi Foram (my miseducation: I hope this is your first name),

 the window around the nominal mass of J/psi it's up to you. In that example the window is
pretty large: +/- 1 GeV/c2. You can try 0.1 or 0.2, for instance. You will learn by doing.

cheers, Elisabetta

Page 1 of 1 ---- Generated from GSI Forum

https://forum.gsi.de/index.php?t=usrinfo&id=1980
https://forum.gsi.de/index.php?t=rview&th=4157&goto=16037#msg_16037
https://forum.gsi.de/index.php?t=post&reply_to=16037
https://forum.gsi.de/index.php

